Phép trir 3 chir s6

B PJS

Tén: Ngay thang: Piém:____
388 602 576 930 662
281 =121 -241 -911 -364
958 544 913 560 961
—-142 -301 -525 —-322 -949
362 /38 778 200 978
-311 -169 -646 -134 -662
939 973 654 525 527
=115 -461 -267 -479 -315
970 296 684 847 324
-697 -239 -339 —-266 -676
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Phép trir 3 chir s6

Tén:

388
—28]
607/

958
—-142

316

862
—311
557

939
-115
324

970
—-697
273

SPJWS

602
—121
481

544
—3071
243

738
-169
569

973
-461
512

296
—-239
57

576
—24
335

913
—525
388

778
—646
132

654
—267
387

634
—339
345
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Ngay thang:

930
-911
19

560
—322
238

200
-134
66

525
-479
46

347
—266
581

662
—364
298

961
—-949
12

978
—662
316

527
—-315
212

324
—-6/6
148

Piém:
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